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X4y 4 A 5 A 6 A 7 A
<14 —34 —54 —10.4—20.420.5= <34 =104=<1.4 —3.4 —5.4 —10.4—20.420.5= =<3.4 <104=1.4 —3.4 —5.4 —10.4—20.420.5==3.4 =10.4<1.4 —3.4 —5.4 —10.4—20.420.5=< =<3.4 =10.4
Hu[x (% %) (% %) (& %) (5 %)
% % % % % % % %N % % % N % % % % % % % % % % % % % % % % % % % %
HKF 98.0 2.0 98.0 100.0 |97.8 2.2 97.8 100.0 [90.3 6.1 3.6 96.4 100.0 [93.2 4.9 1.9 98.1 100.0
Ze5 100.0 100.0 100.0 |100.0 100.0 100.0 |100.0 100.0 100.0 |100.0 100.0 100.0
EJn 948 2.8 0.3 1.6 0.4 97.7 99.6 |98.1 1.9 0.0 100.0 100.0 [94.8 4.7 0.5 99.5 100.0|96.3 2.9 04 04 99.2 100.0
%k 97.1 2.9 100.0 100.0 |100.0 100.0 100.0 |100.0 100.0 100.0 | 96.9 3.1 96.9 100.0
Fer il 100.0 100.0 100.0 |100.0 100.0 100.0 |92.3 7.7 100.0 100.0 |100.0 100.0 100.0
T 96.2 3.8 100.0 100.0 | 98.8 1.2 100.0 100.0 |98.8 1.2 100.0 100.0 |100.0 100.0 100.0
JilEE7= 94.9 5.1 100.0 100.0 [98.0 2.0 100.0 100.0 [90.9 3.9 4.4 0.7 94.8 100.0 |96.2 1.7 2.1 97.9 100.0
H & 97.4 2.6 100.0 100.0 |96.0 1.5 2.5 97.5 100.0 |98.7 1.3 100.0 100.0 |97.1 2.9 100.0 100.0
+ 985 0.9 0.4 0.1 99.4 100.0{99.0 0.7 0.1 0.0 0.1 99.8 99.9 1974 2.4 0.1 0.1 99.8 100.0 {97.9 1.7 0.2 0.2 99.6 100.0
Bl 97.7 1.9 0.1 0.1 0.1 99.6 99.9 |197.4 2.6 100.0 100.0 [94.5 4.3 0.9 0.4 98.7 100.0 |96.1 3.2 0.5 0.2 99.3 100.0
R=E 96.7 2.2 1.0 0.1 98.9 100.0(96.5 2.5 0.6 0.3 0.1 99.0 99.996.8 2.7 0.4 0.1 99.6 100.0(94.3 4.4 09 04 0.1 98.6 99.9
waE 96.2 3.1 0.2 0.4 0.1 99.3 99.9197.0 25 0.3 0.2 99.4 100.096.2 3.4 0.2 0.2 99.6 100.0 |95.7 3.4 0.8 0.2 99.0 100.0
A 98.4 1.3 0.3 99.7 99.7 196.0 2.4 0.8 0.6 0.3 98.4 99.7198.0 1.3 0.5 0.3 99.2 100.0 |96.4 3.4 0.2 99.8 100.0
B HH 91.1 6.3 0.6 0.9 1.1 97.4 98.9 194.3 1.8 1.8 2.0 96.1 100.0 192.4 6.7 0.9 99.1 100.0 [91.3 4.7 3.0 1.0 96.0 99.0
D] 97.3 2.0 04 0.2 0.1 99.3 99.9 976 1.8 0.3 0.2 0.0 0.0 99.4 99.996.5 3.0 0.4 0.2 99.5 100.096.2 2.9 05 0.3 0.0 0.0 99.2 100.0
20234FEFEARE 97.8 2.0 0.1 0.1 0.0 99.8 100.0 |97.1 2.5 0.2 0.2 0.0 99.6 100.0{97.3 2.2 0.3 0.1 0.1 0.0 99.5 99.9195.9 3.2 04 0.4 0.1 99.1 99.9
20224EPE#EA 98.2 1.4 0.2 0.1 0.0 99.6 100.0 [97.6 2.0 0.2 0.1 0.1 99.7 99.9 197.1 2.3 0.3 0.3 0.0 99.4 100.096.1 3.0 0.4 04 0.1 0.0 99.1 99.9
X5 8 A 9 H 10 A 11 A

<14 —34 —54 —10.4—20.420.5= =34 =104=1.4 —3.4 —54 —10.4—20.£20.5= =34 =104=1.4 —3.4 —5.4 —10.4—20.420.5==3.4 <10.4=1.4 —3.4 —5.4 —10.4—20.420.5= =3.4 =10.4
HiX (% %) (% %) (& %) (B %)
% % % % % % % %N % % % % % % % % % % % % % % % % % % % % % % % %
AFF 93.2 5.2 1.6 98.4 100.0 |95.9 4.1 100.0 100.0 |100.0 100.0 100.0 |96.5 1.7 1.8 98.2 100.0
7250 98.3 1.7 100.0 100.0 [98.4 1.6 100.0 100.0 [94.4 5.6 100.0 100.0 [95.8 4.2 100.0 100.0
B 96.7 2.2 0.3 0.8 0.0 98.9 100.0 |97.7 1.5 0.0 0.8 99.2 100.0/96.2 2.0 0.9 0.9 98.2 100.0/96.9 2.1 0.4 0.6 99.0 100.0
#%E 91.4 8.6 100.0 100.0 |83.7 9.5 3.5 3.3 93.2 100.0 |91.4 8.6 100.0 100.0 |100.0 100.0 100.0
el 100.0 100.0 100.0 |100.0 100.0 100.0 |97.0 3.0 100.0 100.0 |100.0 100.0 100.0
T 95.9 4.1 100.0 100.0 [97.3 2.7 100.0 100.0 |98.9 1.1 100.0 100.0 [97.4 2.6 100.0 100.0
JilEk7 94.2 5.8 100.0 100.0 |93.6 5.2 1.3 98.7 100.0 98.9 1.1 100.0 100.0 |100.0 100.0 100.0
H& 91.6 6.8 1.6 98.4 100.0 |100.0 100.0 100.0 |96.7 1.8 1.5 98.5 100.0 98.9 1.1 100.0 100.0
5 97.6 1.8 0.3 0.2 0.0 99.4 100.0197.8 1.9 0.2 0.2 99.6 100.0 |97.7 2.0 0.2 0.1 0.1 99.6 99.9 198.2 1.5 0.2 0.1 99.7 100.0
Bl 95.0 4.3 0.6 0.1 99.3 100.0 |96.2 3.2 0.5 0.1 99.3 100.0 |96.2 3.4 0.1 0.3 99.6 100.0 |97.8 2.0 0.1 99.9 100.0
R=E 95.8 3.7 0.2 0.3 99.5 100.0 195.1 4.5 0.3 0.2 99.5 100.0196.2 3.1 0.4 0.2 0.1 99.3 99.9196.3 29 04 04 99.2 100.0
waE 946 36 1.4 0.1 0.1 0.1 98.3 99.797.1 2.6 0.3 99.7 100.0 |96.7 2.7 0.3 0.2 0.1 994 999|976 19 0.4 0.1 99.5 100.0
N 96.5 2.7 0.5 0.2 99.2 100.0 198.1 1.7 0.2 99.8 100.0 |96.6 3.2 0.2 99.8 100.0 97.3 2.1 0.2 0.2 0.2 99.4 99.8
] 96.1 3.9 100.0 100.0 |92.5 5.5 2.0 98.0 100.0 |94.4 5.6 100.0 100.0 |94.4 5.6 100.0_100.0
oy 96.1 3.1 0.5 03 0.0 0.0 99.2 99.9 96.7 2.8 0.3 0.2 99.5 100.096.8 2.7 0.3 0.2 0.0 0.0 99.5 99.9 (975 2.1 0.3 0.2 0.0 99.6 100.0
20234EE#EH 95.5 3.7 0.6 0.2 0.1 0.0 99.1 999|954 4.0 04 0.2 0.1 0.0 99.4 99.9 1975 2.0 0.3 0.2 99.5 100.0 |97.6 2.0 0.3 0.1 0.0 0.0 99.6 100.0
2022/ £ 95.7 3.4 04 0.4 0.0 99.2 100.0196.4 3.0 0.3 0.3 0.0 99.4 100.0197.5 2.0 0.3 0.1 0.0 99.5 100.0 197.5 2.1 0.3 0.1 99.6 100.0




w7 Ny —+H-= 2 Mo
20244 Mo X RN & FL M R R R £ oy A & (AR (75 /m1)
X453 12 H 1 A 2 A 3 H
=14 —3.4 —5.4 —10.4—20.420.5= =34 =104=14 —3.4 —5.4 —10.4—20.420.5= =34 =104=1.4 —3.4 —5.4 —10.4—20.420.5==3.4 =£10.4=1.4 —3.4 —5.4 —10.4—20.420.5==3.4 =10.4
Hi X (% %) (% %) (% %) (% #5)
% % % % % % % %l % % % % % % % %N % % % % % % % % % % % %N % % % %
355? 97.8 2.2 100.0 100.0 [100.0 100.0 100.0 | 97.8 2.2 100.0 100.0 | 97.9 2.1 100.0 100.0
%%H 95.9 4.1 100.0 100.0 [100.0 100.0 100.0 | 95.0 5.0 100.0 100.0 | 96.4 3.6 96.4 100.0
I 955 4.2 0.3 99.7 100.0|97.8 1.9 0.4 99.6 100.094.3 3.4 1.2 1.2 97.6 100.0 |94.1 3.7 2.1 97.9 100.0
?‘(g“ﬁf\ 100.0 100.0 100.0 [100.0 100.0 100.0 [100.0 100.0 100.0 [100.0 100.0 100.0
*@U—l 99.9 0.1 100.0 100.0 | 95.8 4.2 95.8 100.0 {100.0 100.0 100.0 | 96.9 3.1 100.0 100.0
EE 1974 26 100.0 100.0 |96.0 3.2 0.9 99.1 100.0 | 98.8 1.2 98.8 100.098.0 2.0 100.0 100.0
HET}E 100.0 100.0 100.0 | 97.0 3.0 100.0 100.0 | 98.6 1.4 100.0 100.0 | 97.4 2.6 100.0 100.0
Elf‘c'“—-] 97.1 2.9 100.0 100.0 [100.0 100.0 100.0 | 98.7 1.3 100.0 100.0 | 98.1 1.9 100.0 100.0
+BE 1976 2.0 0.3 0.1 99.6 100.0|98.2 1.5 0.1 0.1 99.7 100.0|97.5 2.1 0.1 0.2 0.2 99.6 99.897.3 2.4 0.1 0.3 0.1 99.6 99.9
g 197.3 2.5 0.2 99.8 100.096.9 3.0 0.1 99.9 100.0|96.6 2.7 0.4 0.3 99.3 100.097.9 1.7 0.3 0.1 99.5 100.0
e |97.6 2.3 0.1 0.1 99.9 100.097.0 2.9 0.1 99.9 100.097.7 2.1 0.3 99.7 100.097.6 2.1 0.1 0.1 0.1 99.7 99.8
@E 1988 1.2 0.0 0.1 99.9 99.9/97.3 2.4 0.1 0.1 0.1 99.7 99.996.8 2.5 0.6 0.1 99.3 100.0|97.4 2.3 0.1 0.1 0.1 99.6 99.8
41986 1.0 0.2 0.2 99.6 100.0 |98.5 1.5 100.0 100.0 |98.6 1.1 0.3 99.7 100.0/98.2 0.8 1.0 99.0 100.0
BE5 1903 7.9 1.8 98.2 100.092.0 6.0 0.9 1.1 98.0 100.0 |95.2 4.8 100.0_100.0 |96.3 3.7 100.0_100.0
S ¥ 1976 2.1 0.1 0.1 0.0 99.7 100.0]97.5 2.2 0.1 0.1 0.0 99.8 100.0]97.2 2.2 0.3 0.2 0.1 99.5 99.9]97.4 2.1 0.2 0.2 0.1 0.0 99.5 99.9
2023fEEER 97.2 2.5 0.2 0.1 0.0 0.0 99.6 100.0(96.5 2.9 0.3 0.2 0.1 0.0 99.4 99.9|97.3 2.3 0.2 0.1 0.0 0.0 99.6 99.9|97.7 1.8 0.3 0.1 0.0 99.5 100.0
20224 %44 98.2 1.5 0.1 0.1 0.0 99.7 100.097.4 2.2 0.2 0.2 99.7 100.0]97.2 2.3 0.3 0.1 0.0 0.1 99.5 99.9]97.9 1.9 0.1 0.1 0.0 99.8 100.0
X5 e ¥ (4 H ~3H)
<14 —3.4 —5.4 —104—20.£20.5= <3.4 =10.4
HX (5 %)
% % % % % % % %
AKF 96.6 2.3 0.7 0.4 98.9 100.0
ZEH0 97.9 1.8 0.3 99.7 100.0
B 96.1 2.8 04 0.7 0.0 98.9 100.0
#%E 1969 2.4 05 0.3 99.2 100.0
el 98.5 1.2 0.3 99.7 100.0
R 197.8 2.0 0.2 99.8 100.0
JH#E  |96.7 2.6 0.6 0.1 99.3 100.0
HeE 1975 2.0 0.1 0.4 99.5 100.0
+BE 1979 1.7 0.2 0.2 0.0 99.6 100.0
% 1966 2.9 03 0.2 0.0 99.5 100.0
FE 965 29 04 0.2 0.0 0.0 99.4 100.0
WE  |96.8 26 04 0.1 00 0.0 99.4 99.9
=4 1976 1.9 0.3 0.2 0.0 0.0 99.5 99.9
BEui 933 52 0.9 0.3 0.1 0.1 985 99.8
SEBO[97.0 2.4 0.3 0.2 0.0 0.0 99.5 100.0
20234 %R 96.9 2.6 0.3 0.2 0.0 0.0 99.5 99.9
20226 %R 97.2 2.3 0.3 0.2 0.0 0.0 99.5 100.0




